# 2018 Top Twenty Value Crops

	<b>.</b>
Wine Grapes all	\$276,002,000
Strawberries	\$268,356,000
Broccoli	\$48,348,000
Avocados	\$46,145,000
Cattle and Calves	\$43,761,000
Vegetable Transplants	\$35,245,000
Cauliflower	\$30,122,000
Cut Flowers	\$26,538,000
Head Lettuce	\$25,734,000
Lemons	\$24,548,000
Celery	\$9,458,000
Rangeland grazed	\$8,096,000
Outdoor Ornamentals	\$7,999,000
Grain Hay	\$3,475,000
Kale	\$2,536,000
Alfalfa Hay	\$2,342,000
Barley	\$1,446,000
Squash	\$1,213,000
English Walnuts	\$1,184,000
Peas	\$443,000

## COMPARISON OF VALUATION OF MAJOR GROUPS DURING THE PAST TEN YEARS

YEAR	ANIMAL	FIELD	NURSERY	FRUIT & NUT	VEGETABLE	TOTAL
2009	\$55,375,000	\$15,178,000	\$93,759,000	\$271,474,000	\$187,309,000	\$623,095,000
2010	\$57,139,000	\$18,545,000	\$94,708,000	\$365,750,000	\$176,666,000	\$712,808,000
2011	\$71,479,000	\$22,929,000	\$96,454,000	\$366,570,000	\$174,981,000	\$732,413,000
2012	\$73,857,000	\$24,612,000	\$95,155,000	\$463,296,000	\$204,900,000	\$861,820,000
2013	\$100,865,000	\$16,365,000	\$97,651,000	\$468,355,000	\$237,896,000	\$921,132,000
2014	\$135,017,000	\$16,812,000	\$84,394,000	\$468,518,000	\$195,329,000	\$900,070,000
2015	\$70,659,000	\$15,600,000	\$99,511,000	\$428,344,000	\$214,059,000	\$828,173,000
2016	\$45,350,000	\$16,784,000	\$86,933,000	\$568,129,000	\$212,734,000	\$929,930,000
2017	\$47,909,000	\$16,679,000	\$82,802,000	\$566,592,000	\$210,716,000	\$924,698,000
2018	\$48,596,000	\$18,777,000	\$81,190,000	\$656,609,000	\$230,327,000	\$1,035,499,000

### **FRUIT & NUT CROPS**

		ACREAGE		PRODUCTION			GROSS VALUE		
CROP	YEAR	PLANTED	BEARING/ HARVESTED	PER ACRE	TOTAL	UNIT	PER UNIT	TOTAL	
Avocados	2018	4,272	4,157	4.608	19,155	Ton	\$2,409.00	\$46,145,000.00	
Avocados	2017	4,197	4,076	2.348	9,570	Ton	\$2,852.00	\$27,295,000.00	
Grapes, Wine	2018	48,456	42,855		177,002	Ton		\$276,002,000.00	
(All)	2017	46,818	42,249		164,393	Ton		\$267,662,000.00	
Chardonnau	2018		3,326	4.604	15,313	Ton	\$1,493.00	\$22,862,000.00	
Chardonnay	2017		3,269	4.708	15,390	Ton	\$1,482.00	\$22,809,000.00	
Sauvignon	2018		634	11.685	7,408	Ton	\$1,457.00	\$10,793,000.00	
Blanc	2017		586	10.439	6,117	Ton	\$1,437.00	\$8,790,000.00	
White Wine	2018		1,872	3.357	6,284	Ton	\$1,500.00	\$9,426,000.00	
(Other)	2017		1,805	3.437	6,204	Ton	\$1,487.00	\$9,225,000.00	
Cabernet	2018		18,394	4.607	84,741	Ton	\$1,530.00	\$129,654,000.00	
Sauvignon	2017		17,784	4.209	74,853	Ton	\$1,666.00	\$124,705,000.00	
Moulet	2018		4,297	3.839	16,496	Ton	\$1,077.00	\$17,766,000.00	
Merlot	2017		4,597	3.734	17,165	Ton	\$1,156.00	\$19,843,000.00	
Disast Nais	2018		2,469	2.725	6,728	Ton	\$2,863.00	\$19,262,000.00	
Pinot Noir	2017		2,404	2.378	5,717	Ton	\$3,028.00	\$17,311,000.00	
Curab	2018		3,113	3.493	10,874	Ton	\$1,641.00	\$17,844,000.00	
Syrah	2017		2,982	3.392	10,115	Ton	\$1,625.00	\$16,437,000.00	
Zinfandel	2018		2,556	2.669	6,822	Ton	\$1,515.00	\$10,335,000.00	
Zimandei	2017		2,639	2.985	7,877	Ton	\$1,382.00	\$10,887,000.0	
Red Wine	2018		6,194	3.606	22,336	Ton	\$1,704.00	\$38,060,000.0	
(Other)	2017		6,183	3.389	20,954	Ton	\$1,797.00	\$37,655,000.00	
Lemons	2018	1,910	1,697	13.790	23,402	Ton	\$1,049.00	\$24,548,000.00	
Lemons	2017	1,786	1,596	10.015	15,984	Ton	\$1,002.00	\$16,016,000.00	
Strawberries	2018		4,165		201,894	Ton		\$268,356,000.00	
(All)	2017		3,881		166,045	Ton		\$228,169,000.00	
Fresh	2018			35.952	149,740	Ton	\$1,525.00	\$228,354,000.00	
FIESTI	2017			32.820	127,374	Ton	\$1,570.00	\$199,978,000.00	
Processed	2018			12.522	52,154	Ton	\$767.00	\$40,002,000.00	
Processeu	2017			9.964	38,670	Ton	\$729.00	\$28,191,000.00	
English	2018	1,646	1,484	0.248	368	Ton	\$3,217.00	\$1,184,000.00	
Walnuts	2017	1,852	1,852	0.214	396	Ton	\$3,189.00	\$1,264,000.00	
* Miscellaneous	2018	3,059	2,781					\$40,374,000.00	
* Miscellaneous	2017	2,759	2,709					\$26,186,000.00	
TOTAL FRUIT & NUT	2018	59,343	57,139					\$656,609,000.00	
CROPS	2017	57,412	56,363					\$566,592,000.00	

<sup>\*</sup> Apples, Apricots, Asian Pears, Blueberries, Blackberries, Feijoas, Gooseberries, Grapefruit, Kiwis, Mandarin Oranges, Navel Oranges, Olives, Passion Fruit, Peaches, Persimmons, Pistachios, Pomegranates, Raspberries, Specialty Citrus, Table Grapes, Tangerines, Valencia Oranges

#### **ANIMAL INDUSTRY**

COMMODITY	YEAR	NUMBER OF HEAD	PRODUCTION	UNIT	PER UNIT	TOTAL GROSS VALUE			
Cattle and Calves	2018	44,900	334,056	Cwt	\$131.00	\$43,761,000.00			
catale and carves	2017	43,100	313,337	Cwt	\$138.00	\$43,241,000.00			
. Miscellaneous	2018					\$4,835,000.00			
* Wiscellaneous	2017					\$4,668,000.00			
TOTAL ANIMAL	2018					\$48,596,000.00			
INDUSTRY	2017					\$47,909,000.00			
* Aquaculture Faas Goats Lambs Sheen Pias Rees Honey Milk									

#### **VEGETABLE CROPS**

cnon	VEAD	HARVESTED	PRODUCTION			GROSS VALUE	
CROP	YEAR	ACREAGE	PER ACRE	TOTAL	UNIT	PER UNIT	TOTAL
Broccoli	2018	6,894	5.828	40,178	Ton	\$1,203.34	\$48,348,000.00
Broccon	2017	5,855	5.856	34,287	Ton	\$1,254.02	\$42,996,000.00
Cauliflower	2018	3,269	14.736	48,172	Ton	\$625.31	\$30,122,000.00
Caulinowei	2017	2,940	8.842	25,995	Ton	\$894.49	\$23,253,000.00
Celery	2018	748	29.396	21,988	Ton	\$430.16	\$9,458,000.00
Celery	2017	711	21.471	15,266	Ton	\$550.55	\$8,405,000.00
Kale	2018	128	18.307	2,343	Ton	\$1,082.16	\$2,536,000.00
Naie	2017 **						
Lettuce, Head	2018	3,215	18.546	59,625	Ton	\$431.59	\$25,734,000.00
Lettuce, Head	2017	2,420	15.380	37,220	Ton	\$469.57	\$17,477,000.00
Peas Edible Pod	2018	152	1.213	184	Ton	\$2,399.99	\$443,000.00
reas Edible rod	2017	141	1.760	248	Ton	\$2,142.86	\$532,000.00
Squash	2018	128	13.158	1,684	Ton	\$720.00	\$1,213,000.00
Squasii	2017	143	10.099	1,444	Ton	\$711.17	\$1,027,000.00
Miscellaneous	2018	11,446					\$112,473,000.00
Miscellarieous	2017	12,539					\$117,026,000.00
TOTAL VEGETABLE	2018	25,980					\$230,327,000.00
CROPS	2017	24,749					\$210,716,000.00

<sup>\*</sup> Anise, Artichokes, Arugula, Basil, Beans, Beets, Bell Peppers, Bok Choy, Brussel Sprouts, Cabbage, Carrots, Chard, Chili Peppers, Cilantro, Collards, Cucumbers, Daikon, Dandelion, Dill, Endive, Escarole, Fennel, Garlic, Green Onions, Herbs, Leaf Lettuce, Leeks, Melons, Mizuna, Mushrooms, Mustard Greens, Napa Cabbage, Onions, Parsley, Potatoes, Pumpkins, Radishes, Spinach, Sweet Corn, Tomato, Tomatillo

<sup>\*\*</sup> Not available

#### **NURSERY STOCK**

	CROP YEAR		FIELD PRODUCTION (acres)	GREENHOUSE PRODUCTION (sq. ft)	TOTAL GROSS VALUE
	Cut Flowers and Greens	2018 **	64	6,311,909	\$26,538,000.00
	cat Howers and dicens	2017 **	64	6,319,284	\$27,165,000.00
	Outdoor Ornamentals	2018	55	56,980	\$7,999,000.00
		2017	70	55,580	\$9,320,000.00
	Vegetable and Ornamental	2018	34	1,747,330	\$35,245,000.00
	Transplants	2017	33	1,766,260	\$33,119,000.00
*	Miscellaneous	2018	36	1,050,945	\$11,408,000.00
	Wiscellaneous	2017	51	1,148,445	\$13,198,000.00
	TOTAL NURSERY STOCK	2018	189	9,167,164	\$81,190,000.00
		2017	218	9,289,569	\$82,802,000.00

<sup>\*</sup> Aquatic, Bedding plants, Bulbs, Cacti, Christmas Trees, Fruit-Nut trees, Ground Cover, Herbs, Indoor Decorative, Propagative plants, Scion wood, Flower seed, Sod, Specialty plants, Succulents

### **FIELD CROPS**

		ACREAGE		REAGE	PRODUCTION			GROSS VALUE		
	CROP	YEAR	PLANTED	HARVESTED	PER ACRE	TOTAL	UNIT	PER UNIT	TOTAL	
	Alfalfa Hay	2018	1,562	1,562	5.95	9,294	Ton	\$252.00	\$2,342,000.00	
	Allalia Flay	2017	1,548	1,548	6.95	10,759	Ton	\$225.00	\$2,421,000.00	
	Barley	2018	10,132	10,111	0.79	7,988	Ton	\$181.00	\$1,446,000.00	
	Вапеу	2017	9,482	9,482	1.08	10,241	Ton	\$172.00	\$1,761,000.00	
**	Grain Hay	2018	9,955	9,672	1.77	17,119	Ton	\$203.00	\$3,475,000.00	
		2017	7,493	7,333	2.01	14,739	Ton	\$166.00	\$2,447,000.00	
	Grain Stubble (Grazed)	2018		7,128			Acre	\$23.00	\$164,000.00	
		2017		6,253			Acre	\$10.00	\$63,000.00	
	Rangeland, Grazed	2018		1,012,000			Acre	\$8.00	\$8,096,000.00	
		2017		1,012,000			Acre	\$8.00	\$8,096,000.00	
*	Miscellaneous	2018	2,590	2,580					\$3,254,000.00	
		2017	3,767	3,677					\$1,891,000.00	
	TOTAL FIELD	2018	24,239	1,043,053					\$18,777,000.00	
	CROPS	2017	22,290	1,040,293					\$16,679,000.00	

<sup>\*</sup> Irrigated Pasture, Oats, Safflower, Sudan Hay, Wheat, Seed

<sup>\*\*</sup> Includes cut flowers grown in greenhouse and field

<sup>\*\*</sup> Includes winter forage